E&Fé‘-_‘r* B 1128 & R Fi s 2 58 53 JaiT ¥ a2 w113.02 15
= p ¥ | #P L
RE P
PRV RSIRAERE BiY EnSE
5 16 ; Sla xp sz g E (T 5 W E DR
- P28 BELAM(EITER THELL) | 5- T 42
¥ 3-T& o3V BB OB E 2
%568 BREHB(N£E&) NE B AE
2| 11 | AP G 2/15 MR > R ¥ w 3AR)
2| 19 - N EmEZRREL CRE
-2 2t | = | rRFRmEVR ;‘:‘; I
22122 2-2 |{ EBF=ZXAHFV Y 1-5#
ERTE T INF JE WY 0
2| 26 - W R
XS T S ¥4 kg (s )
2| oot S (12 1 s B 4 2/27-3/14
T 2 28 | = [284rTripcE-p
2 | 29 r | AN EBRF LR
BEEEY T RE T
0 L N Y O 18:30(3 ¢ 34%)
3] 4 - i&&ii@—‘lﬁ e 548 EGY)
e [3] 7 | Bk B
3 8 Ed 2.k (1) WA E 5T &
3] 12 - | RrFERE 12:30-15:00
3] 14 w112 At gy sk
T3] 15 | I |I3BEATREFEGLGE) FParga
3] 16 = 1138 &R T REU &
2 3| 18 - TERPAFAPE(L EHEET EF) | F48CRERD
32829 | -1 | % xTIHF
-3 29 I | rEmrREE %56 & 0 ¥
3] 30 5| AT origma
i e s
~ 1 1 ) S N EBTFLsET RER
4] 47 | w-p |FPEedE
B TP A8
1[4 12 Ei ok E b?(Z) HAFRE 5T &

&
B 4F 1%

¥R 56 &




TR AT S 554 ¢ g 6:30 0 A E
R ERRLR IR EBRFeIXHY S 1-6#
4] 20 = 1138 arFRETgE
|| 23T 1 #5523
3 FE RN Y 5-6 &
- s 1 BRE ’,J(% ;&7?(‘3)” HAHE 57 &
EE ST & N S
5| 13 - 1138 &Rs2 5 LHEO2 18:00 ¢4
5| 15 = [T R 5/15-5/20
tr (51415 = |- s ANEBS - ZHT
5| 16 T | - x i g Fp v
51 17 ki 4 #E BB ARAR 6 a(E)
51819 »-p |113 &R~ £
| 9  [tEmgrpagnp ¥4 ()
L3 1 & Bt fedy s B
51 21 = AR Lt 4
+ 65} 28 = 1 4’2,3&7}3“3‘:“{% Yo Ak
Lo (6] 6T [xoT | EmmERY
6| 7 I R KT eI EF IR A
6| 10 e
ax el 1 IR
RELF R
6| 12 = |2z P AEY8E
R - | mEiape
6| 21 T SONEBISE S B Y B i
6| 25 = (13 FERsLAS Rl (12 &) FEEFE
62627 2= | = s NEBB =X ETHT
= 1652 ¥t oR(HT &2 F%)
6| 28 7 FUERENERDY > THEY)
16 : 00 #c7% ¢ ® (&)
T 1 BT
g | ] 10| -3 EETE R e
S NEBZH DY 7/22-8/9(2 %)~ 4 BB WP & T/22-8/16(w B )(HFE)

*{TEBWAEE) > R T S EA -




